t*

log AY/Y)

log (Y/AY)

L* =49, t* Aﬁd&lDuf‘ triar gle li¢ -1esst*

=
t* nc=Yw nc~-

4y
L AINDU6=IN(A 17+A2nY)/(AznPen) § (Ynd/100<Y<=Yn0)
t LABJNDuG*In(Aln"’AZux)/(AZu‘AOn) (x=Y1Yy)
t(3.6)=320 1+ (18)= 7481*\,\,@0) 64

.
L]
.

tro=1133,72, A f@'ees £,70,1044, ¢=1,00
t*1g=717,51 Ar=C,@L7, Ay=0,0058
{13,267 30,7 W 51 =18 !

- 1%,=1

application
range

XN=0,2 Xw=5

LABJINDuU6
tristimulus value difference

Yoc=Yw nc=100,
L ABINDUs=IN(A 17+ AY)(A2rAon)  (Ynd/L00<Y<=Y;,0)
L aBanDus=IN(A 1n+A2 ) (AgAon)  (X=Y/Yy)
dY=Agn(A1ntA2nY)=Agn(A1rtAzX), see CIE 230:2019
dYg=0,35, A)=0,6666, A,=0,1044, ¢=1,00
dY;g=0,08, A=0,017, A;=0,0058
dY3¢=0,02 Y,=18, dY=0,03

t*,=748 dY,=0,08 d

LABJINDu6

_ tristimulus value sensitivity

SHEYY Yoc=Yw - nc=100,

tLaBaNDus=IN(A1n+A2Y)/(A2rA0n)  (Yne/100<Y<=Y,o)

L ABINDUG =IN(A 1ntA2X)(A2iAon) - (X=YTY)

AY/Y=Agn(A1r+AgnY)Y=Aon(Arr+AgX)Y
(dY/Y}g=0,2039, A4,=0,6666, A,=0,1044, ¢=1,00
(dY/Y)§=0,0044, A 5,527, Ay=0,0058
(dY/Y},6=0,00,3 V.218, dY=0,08

application
log(dY/Y)F-2,34 rm-—o B. s range
| N
T .=748 0Y,~0,08 dv,Y,0,00441 " " * !
=L

XxN=0,2 Xw=5

LABJINDu6

tristimulus value contrast
Yoc=Yw nc=100,
tLaBINDUs=IN(A 1+ A2 Y)/(A2nA0n)  (Ync/100<Y<=Y,o)
1 ABINDUG =IN(A 1ntA2)/(A2Aon) - (X=YTY)
YIAY=Y/[A (A 1ntA2n V)X Y/ [Aon(A1n+AuX)]

C,=(Y/AY)

t*,=748 dY,=0,08 Y,/dY,=222
o AR NI
log(Y/dY)2,34 m;=0,13 ¢ ® .

(Y/dY}=250,46 7=0.666A A. 120,104~ 00
(Y/dY)g=222,40_7,=0,017, A0, 005%39 ication
(Y/dY} 142,55 Y, =18 dY=0, (B)h

=02 Xw=5

LABJINDuG6 relative triangle lightnesst*/t*,,

t/t* u Ync‘YW nc_loox
tLagaNDus =IN(A1n+A Y (A2rAcn)  (Yad/100<Y<=Y,o)
tLagaNDus =IN(A 1ntA2X)/(A2iAon) - (X=Y/Yy)
t(3,6)=320 1 ,(18)=748 t* ,(90)=1164
t*gt* ;=1,55, Ay,=0,6666, 4,=0,1044, ¢=1,00
t1g/t*y=1,00, A,1=0,017, A4=0,0058
t*3 gtF,=0,43,15,=747,51 Y18
t+/t* =1, m,=0,79

application
ral

=1

log(AY/AY,)

Xw=5

LABJNDU6 relative
tristimulus value difference
Dy Yoc=Yw - nc=100,
tLagaNDus =IN(A1n+AY)(A2rAcn)  (Yad100<Y<=Y,o)
tLagaNDus =IN(A 1ntA2X)/(A2iAon) - (X=Y/Yy)
dY/dY =(A1tAX)/(A1+AY)

dYao/dY,=4,43, A)=0,6666, A,=0,1044, ¢=1,00

dY;¢/dY,=1,00, A,=0,017, A.=0,0058

dY ¢/dY,=0,31, Y,=18, dY=7,08 $¢

>

t*,=748 dY,=0. 08 dY,/’ 1u—0 ./044 “

log[(dYY(dY),J=0, 7, =0.56 ‘ |
‘ 1 application

1 range

=1

log [AYY) I (AYIY),]

XN=0,2 Xw=5

LABJNDUS relative
tistimulus value sensitivity

SSu=OYMIBYNy . =y, =100,
tLagaNDus =IN(A1n+A ) (A2rAon)  (Yad100<Y<=Y,o)
tLagaNDus =IN(A1ntA2) (A2iAon) - (X=Y1Yy)
@Y/YY(AYIY)=[(A 1+ A X (A 17 +A)
(Y /(AY/Y)-.88, Ayi=0,6666, 4,=0,1044, ¢=1,00
(@Y/Yyg/(dY/Y)=1.00, .
(@YY g(dYY)=1,53 YU 118 dY=0,08

log[(dY/Y)(dY/Y),]=0, m,=-0, 13 1
t*,=748 dY,=0,08 dY,/Y,=0,0044

Iy =1

application
rang

log [(Y/AY) I (YAY),]

XN=0,2 Xw=5

LABJNDU6 relative

tistimulus value contrast
CrlCru=(YIB)(YIAY)y - 2y, - =100

nc_l '
tLagaNDus =IN(A1n+AZY)(A2rAcn)  (Yad100<Y<=Y,o)
tLagaNDus =IN(A 1ntA20)/(A2iAon) - (X=Y/Yy)
(YAYY(Y/IAY)=[XI(A A )(A 10+ A L)
(YIdY)g/(Y/dY)=1,12, Ay=0,6666, A,=0,1044, ¢=1,00
(Y/dY)g/(Y/dY)=1,00, A,=0,017, A;=0,0058
(Y/dYY g(Y/dY)=0,64 Y, =18, dY=0,08

log[(Y/dY)(Y/dY),]=0, m=0,13

application
range




